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PART - A 

 Answer ALL questions. 







         (10 x 2 = 20 marks)

1. What do you mean by  basic feasible solution to a L.P.P?                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                     

2. Explain the term slack variable and its use in linear programming.

3. Give the mathematical formulation of a transportation problem? 

4. What is the objective of an assignment problem?

5. What are the properties of a two person zero sum game in game theory?

6. Explain the term value of a game.

7. Give two differences between PERT and CPM.

8. What is float? What are the different types of float?

9. What is holding cost and carrying cost associated with an inventory?

10. Define the term price break.

PART -  B 

 Answer any FIVE questions. Each question carries eight marks.
                       (5 x 8 = 40 marks)
11. Solve graphically the following L. P. P:  Maximize 
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12. Solve the assignment problem:  

	Men
	Jobs

Time (in Hrs)

	
	I
	II
	III
	IV
	V

	A
	2
	9
	2
	7
	1

	B
	6
	8
	7
	6
	1

	C
	4
	6
	5
	3
	1

	D
	4
	2
	7
	3
	1

	E
	5
	3
	9
	5
	1


13. Solve the following game graphically:

	Player A
	Player B

	
	
	B1
	B2
	B3
	B4

	
	A1
	2
	1
	0
	-2

	
	A2
	1
	0
	3
	2


14. A small project consists of seven activities for which the relevant data are given below: 

	Activity
	Preceding Activities
	Activity Duration (Days)

	A
	-
	2

	B
	-
	1

	C
	A
	3

	D
	A, B
	2

	E
	C, D
	1

	F
	B, D
	3

	G
	E, F
	1


Find the critical path. Calculate the total float for each of the activities.

15. A company operating 50 weeks in a year is concerned about its stocks of copper cable. This costs Rs.240 a meter and there is a demand for 8,000 meters a week. Each replenishment costs Rs.1,050 for administration and Rs.1,650 for delivery, while holding costs are estimated at 25 per cent of value held a year. Assuming no shortages are allowed, 

what is the optimal inventory policy for the company?

16. Obtain an initial basic feasible solution using matrix minimum method: 

	
	D1
	D2
	D3
	D4
	Capacity

	O1
	1
	2
	3
	4
	6

	O2
	4
	3
	2
	0
	8

	O3
	0
	2
	2
	1
	10

	Demand
	4
	6
	8
	6
	


17. A firm manufactures two products A and B on machines I and II as shown below:

	Machine
	Product
	Available hours

	
	A
	B
	

	I
	30
	20
	300

	II
	5
	10
	110

	Profit per unit(Rs)
	6
	8
	


The total time available is 300 hours and 110 hours on machines I and II respectively. Products A and B contribute Rs. 6 and Rs. 8 per unit respectively. Formulate the primal problem and the dual problem and give their economic interpretation.

18. The annual demand for an item is 3200 units. The unit cost is Rs.6 and inventory carrying charges 25% per annum. If  the cost of one procurement is Rs. 150, determine the (i) Economic order quantity (ii) time between consecutive orders (iii) number of orders per year (iv) optimal total cost. 

PART - C 

Answer any TWO questions.






 (2 x 20 = 40 marks)
19. Solve by simplex method: 

Maximize 
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20. Solve the following transportation problem:

	
	M1
	M2
	M3
	M4
	M5
	SUPPLY

	I
	2
	3
	5
	7
	5
	17

	II
	4
	1
	2
	1
	6
	13

	III
	2
	8
	6
	1
	3
	16

	IV
	5
	3
	7
	2
	4
	20

	DEMAND
	16
	20
	13
	12
	5
	


21. a) Solve the following game and find the value of the game:

	
	Player B

	Player A
	B1
	B2
	B3

	A1
	-1
	2
	-2

	A2
	6
	4
	-6


 b) Explain the theory of dominance in the solution of rectangular games.

22. a) The cost of a commodity is Rs.2 for an order less than 15 and Rs.1 for orders greater than or equal 
    to 15. Holding cost per   unit  is Rs.1 and setup cost is Rs. 10 per run and the requirement is 
    5 units per day. Find the EOQ.

           b) Explain the Dijkstra’s algorithm to determine the shortest route between the source node and every 
              other node in a network.

$$$$$$$






1
3

_1350117959.unknown

_1350117961.unknown

_1350117963.unknown

_1350117965.unknown

_1350117966.unknown

_1350117964.unknown

_1350117962.unknown

_1350117960.unknown

_1350117957.unknown

_1350117958.unknown

_1350117956.unknown

